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5 2
la. {7,-4} b. {5,—5}

2a. {537} b. {14}
3. {Si\/ﬁa}

343421
4.9
5. {+/5.77}

6. If we set the equation to O, and factor the left side, we
can set each factor to 0 and solve.(ab=0,then a=0 or b=0).

7. (2x+7)(4x2-14x+49)

8. 4x(2x-3)(3x+1)

9. (x+1)(x+3)(x-3)

10. 2x%+11x-4
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Solve each quadratic using the method given,

1. Factoring: a) x*-3x-28=0 b) 6x” - 11x = 10 (7="6°
P=-28 (X-)(rtd)=0 . Ex--iX *“’-": 5"5*}
=3 . K=(Sx K ~0= -
-?u\ K= '}{ 1 3;?& )+ﬂfﬂ.ﬁ‘5)nﬁ il/’; -0

S (BK )T V"%
<i7';""‘3 (Ax~5)
- x=5h. [x=-%/3 _5,33
A1 3
2. Square roots: a) (x-5)*=37 b) x* - 14 =
(G5 = 257 [ X ’*“'Jﬂ
X~5 = 2037 +r“‘§
Y2754/ e
3. Completing fl'; sq:ur‘; x? lﬂx-i? {__i 1S
[(x=3)7
=5 = + r'ar:li
=55 T (%3
4, Quadratic f |a5 15 %0
. rartic Tormuia- .'!! M=
Asu=(N=-46)A= 4 1B, 119
X=—(AE = 3EAT
}_ /0
3 t3 3
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5. Grouping: x+7x"-Ax-35:0
A= )=sx+7)=0C
(X5 )(x+1) =0

J b e R S
x= =[5

6. How does factoring an egquation help us solve it?
]& urt ek %r#-fq# =R Pm FE}V‘“’L- 'llﬂ'DL 'ﬂ"""d'
e left side s made “T?% s factns,
e (ol T eact Factir e dwnd Jliré.
(&+b=q thtan, A=0 ar b =b)

Factor completely.

7. 8¢+ 343 OFLX, 3=T ) 8. Eﬂf-{i’_sziiza 3) g’;-*fli;

= ) Hy A4 = Ax(lK"=Ix=2) 5=
(Rxe) =y (e =axtix-3) =4~

?ﬁ? o o343 <L, = Lﬁggix{:w-awt 2e=3)]

= fo(?-i"?)jf.f*r""l}
9, i:_xg— 9x - §
= xR -4 ()
= () (xF-4)
= (xR (X3
v .
10. Divide (od5x%37¢ by (x-3). Dyl =
xl___b I;\xi.a‘_.f_xl—-i'?x o~
2 -~ 2%> "GFLL 3
2)( Hllx -9 "'3_5 —UXT h3X Vo
v
O
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Warm-up if didn't do this yesterday
What is the difference between factoring and solving for x?

Challenge question.
A quadratic in standard form is ax? + bx + ¢ = 0. We can use completing the square in
order to derive the quadratic formula. Start by dividing each term by a.

Aug 28-1:05 PM
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What 1s the difference between factoring and solving for x?

Challenge question.
A quadraticin standard form is ax? + bx + ¢ = 0. We can use completing the square in
orderto derive the guadratic formula. Start by dividing each term by a.

Ox¥ +bx+c =0
xw..p&-xa- %:O c
Yr+HEx+ =TTt
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Start w/ #15 Review

1. Add: (5x2—7x) + [3x2 + 3x - 5)
2. Subfract: [5x2—7x) - (3x2 + 3x-5)
3. Mulliply: (3x + &)

4. Find the product: (2x - 3y) [4x2+ x - 5)

5. Divide (10x2 + 3x - 18) by (2x + 3) using long division.

Factor: DOM.LJ.Q DOTS
6. x2-Tx+ 12 7o 3xE—4x+ ] 8. yi-064 ?. 1é6x4- 81

Solve:

10, 2x3 - 8x2=24x 11. 5x2-3x=2 12, x3—4x2 - 3x+ 12=0
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13. Solve by using the gquadratic formula: 2x2 + 4x =3

14. Solve by completing the square: x2-8x+4=0
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15. In a basketball game, Michael shoots a shot from a position of about 7' above the
ground with an initial verfical and harizontal velocity of 13 ft/sec. The height of the
shotis modeled by the function h(t) =-1612 + 131t + 7, where 1 is the time in seconds
after the shot, Unfortunately, Michael shot an air ball. How long does it take the shot
to reach the ground? Solve algebraically and round fo the nearest tenth.
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1-14 (Review) HW Answer Key

1. 8x%-4x-5

2. 2x2-10x+5

3. 9x*+36x+36

4. 8x3-12xy+2x°-3xy-10x+15y
5. bx-6

6. (x-4)(x-3)

7. (x-1)(3x-1)

8. (y-4)(y*+4y+16)

9. (4x%+9)(2x+3)(2x-3)

10. {0, 6,-2}
1. {1,-2/5)
12, {4, £3)
24410
13. { 2 }
14 {412\5}

15. 1.2 seconds
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1. Add: (5x2 - 7x) + (3x2 + 3x - 5) Hf;a ~d -5~

2. Sublract: (5x2 = 7x) - (3x2 + 3x=5) = ':L-zt -lOfac +§

e ———

3. Multiply: (3x+ 6)2 = (3w+eX3avh) &1."" mex r!-&

4. Find the product: (2x -3y} {4x2 + x-5) = 33.* +r2¢"rtogad;z;¢'g45xg+f53f
”5"1. —~r1133+ L‘f.""-—S;c*}-p'ﬂx +f5‘a.

5. Divide (10x2 + 3x — 18) by (2x + 3} using long division.
5‘;,; [

2xra[ 10 3x -8 @>
QY 415
—1iw -8
|y -1 F
Factor T
6. X2-Tx+12= 7. 3@-4x+1=  B.y3-g4 = g;ﬁ_ 9. 16x4-81 =
)3 x> 3u-lx H * é(}w)@u t@m); (Hyreaxfe-a) =
3x(x-i)-t (¥ )= (tgfmfmzfza
fcv:-f}(' 3%-1) )‘) . o
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Solve: _
10. 26 - 8x2 = 24x {11, 5x2-3x=2 12, x3—4x2 =3x+12=0
2P -Px -2y =0 \ Setae-=0 | e gy -3 S0
Qe (g F- e = 12) =9 Syt -gx4tx-2 =0 | (x-u)(xt-3) 70
o
= Sl =)+ -1 =0 w-f=o | w3
(M)(«nexkﬂ) © ( )_ "(’1’3 ce | xEe3
k=@ | (v Sx42) =0 L5

1y=0 | kvl =0
wio | x| ¥=ol | yezo [ §xt2=@ t D

- b
N 1 @ "‘L@h \ e

J——
- e

13. Solve by using the guadratic formula: 2x2 + 4x =3

RN T ) | B

L = e NS [ Coas mé
> I e 4 } 5 !

& P

. ~Ht Juo /

e SEER .
-“‘ﬂ
-y k20l
e TREENR
H.—

14, Solve by compileting the square: x2 -8x+4=0
R S e L
(=)™ = 1%
‘,{”‘-f F= :i' "Jr]";:-
Pl B o 2-1}“_93“
ST TR
X £ 205G )
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In a basketball game, Michael shoots a shot from a position of about 7' above the
ground with an inifial vertical and horizontal velocity of 13 ft/sec. The height of the
shot is modeled by the function h{t) =-16f2 + 13t + 7, where 1 is the time in seconds
after the shot. Unforfunately, Michael shot an air ball. How long does it take the shot
to reach the ground? Solve algebraically and round to the nearest tenth.

O = —At> +13L +7
let*~13¢ -7 =0

t= 22 {CD-H0e)D

A
L~ 1prien
32
goo A3xlen e e
s | v - & P
e 1.182 Tee

‘5'.'.

e

'\ 1,3 Secoads
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